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1. 2 DOREXZROE. (SHh15208, Afk2y, B#4AD, CH6)

(1) AC=22,BD=25 (2)

(3) AC=z,BD=z+1 (4) AC=BD =6
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2.

(1)

(3)

ROMNCEZ K. (SHk14)

AC=9,BD=10
T DEIZRD L.

AB=BC=CD =6,
x DRI ZRD L.
A D

408, A3, B#5, C#75y)

(2) AD:BC=1:2Th 5% ¢ ¥,
AD DRI ZRD &

AD=2, AC=z+5 (4)  AABC DIE=fA¥TH 2 L ¥,
BD DRI %Ko k.
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1.

RETAN BPORE MLEI—0OFE 01 BEH

Elﬁlé

r DEIZROK. (SHk175208, A2, Bikdsr, C#k657)
* NLE—DEE AB-CD+ AD:BC = AC-BD

AD /BAE = /CAD 7% % 9I2BD LICHE 25X,
‘v AABE © AACD = AB:BE=AC:CD = AB-CD=BE-AC
AABC © AAED = BC:CA—ED:DA = BC-DA=CA-ED
A 5. 220RXOf» S AB-CD+ AD-BC = (BE+ED) - AC = AC - BD
B C
“.ll-" YW 2T MONBEWMFICE T T 3HIoEOM = WAoo

WhLI—LIEEREFVSTORLEZE I T TITAAR T Lo FRADI L.
2010, TOFEMIZT LA T ADOEHE LTINS

(1) AC=22,BD=25

* hLE—0DEHE
AB-CD+AD+BC=AC-BD
r+15+10-25 = 22-25
< 15z + 250 = 550
< x=20

(3 AC=z,BD=z+1

* NLE—DEE
AB-CD+AD-BC=AC-BD
43456 =z (z+1)
& 12+430=22+2z
& 22+r-42=0
< (z+7)(x—-6)=0
x>04&D, =6

(2)

* hLE—DEE
AB-CD+AD+BC = AC-BD
4-342°5 = 4.z

< 124+10=4x
11

ZtEp o, AATGIEERATE

koT, MICHET 3.

*x RLE—ODOFERE
AB-CD+ AD + BC = AC+BD
r*r+24 =66

& 22+8=236

& z=42V7
>0k, z=2V7

W OEHOATHRT 5.
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2.

(1)

(3)

KOBIEA S

AC=9,BD=10
T DEIZRD L.

* NLE—DFERE
AB-CD+ AD-+-BC=AC-BD
8+x+67 = 9-10
< 8r+42=90
< =6

AB=BC=CD =6,
r DEIZRD L.

AD=2x, AC=x+5

FfEH o, AGIZERGTE

XoT, HIcHEET 5.

* FLE—ODFEE
AB-CD+AD+BC=AC-BD
6:6+x°6 = (z+5)(z+5H)

& 3646z =22+10x+25

& 22445 -11=0

& r=-2++15

z>0%0D 2=—-24+15

(2)

(4)

(SH15740%, AM3%, B¥ks5a, C¥r4)

AD:BC=1:2ThHs L5,
AD DEX %k k.

AD=2z 8 &, BC=2x

* NLE—DFE
AB+CD+ AD *BC = AC *+ BD
9« 7+x+2z = 11+13

& 22463=143 & z=42V10
z>0X&0, =210

AABC IE=MAETH S & &,
BD ORI zRod L.

E=AEO—-UD0R3% a LT 5.
* NLE—DFE

AB-CD+AD:-BC=AC-BD

a*34+2*a =a*xr < dHa=ax

a0 &0, z=5

SehlfiE 1

AACD IZRikEsE Z @A L T,
AC? =DA% + CD? — 2+ DA - CD *cos 120°
AC?=22+432-2-2-3-(-1)

AC>0 XD, AC=+19

AABD IZREER ZHA L T,
AB? = BD? + DA% — 2+ BD * DA - cos 60°
\/ﬁ2:$2+22—2'x°2'%

r>04&D, z=5

SHlfE2  ABCD % B ZHDICHEBH ¢ 5.

L) ECHD DMEIZL 5L 512 T, ABDA O£
IZH o T . DOBEEE D &1L, ABDD'HIE=f
B2 2DT, c=2+3=05.
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